[bookmark: _Toc535404181]Current Configuration

	Aggregates
	
	
	
	
	
	

	Name
	Available Space
	Used Space
	Total Space
	Volumes
	Disks
	Disk Sizes

	ag01
	9.03TB
	9.03TB
	18.06TB
	5
	34
	836.91

	
	
	
	
	
	
	

	Volumes
	
	
	
	
	
	

	Name
	Available Space
	Thin
	Total Space
	Used %
	
	

	vol01
	1.93TB
	Y
	5TB
	61
	
	

	vol02
	3.5TB
	Y
	6TB
	41
	
	

	vol03
	1.88TB
	Y
	4TB
	52
	
	

	vol04
	1TB
	Y
	2TB
	50
	
	

	
	
	
	
	
	
	

	LUNs
	
	
	
	
	
	

	Name
	Container
	Available Size
	Total Size
	Used %
	
	

	lun01
	/vol/vol01
	1TB
	5TB
	79.93
	
	

	lun02
	/vol/vol02
	1.59TB
	6TB
	73.44
	
	

	lun03
	/vol/vol03
	1TB
	4TB
	75.07
	
	

	lun04
	/vol/vol04
	0.662TB
	2TB
	67.63
	
	



















[bookmark: _Toc535404182]Proposed Changes

	Aggregates
	
	
	
	
	
	

	Name
	Available Space
	Used Space
	Total Space
	Volumes
	Disks
	Disk Sizes

	ag01
	9.03TB
	9.03TB
	18.06TB
	5
	34
	836.91

	
	
	
	
	
	
	

	Volumes
	
	
	
	
	

	Name
	Available Space
	Thin
	Total Space (GB)
	Used %
	New Volume (GB)

	vol01
	1.92TB
	Y
	5000
	61
	5250

	vol02
	3.48TB
	Y
	6000
	41
	6300

	vol03
	1.9TB
	Y
	4000
	52
	6300

	vol04
	1018.14GB
	Y
	2000
	50
	4200

	
	
	
	
	
	Total 22050GB

	
	
	
	
	
	

	
	
	
	
	
	
	

	LUNs
	
	
	
	
	
	

	Name
	Container
	Available Size
	New LUN
	Used %
	
	

	lun01
	/vol/vol01
	1TB
	5TB
	79.93
	
	

	lun02
	/vol/vol02
	1.59TB
	6TB
	73.44
	
	

	lun03
	/vol/vol03
	1TB
	6TB
	75.07
	
	

	lun04
	/vol/vol04
	0.662TB
	4TB
	67.63
	
	

	
	
	
	Total 21TB
	
	
	


							
[bookmark: _GoBack]Aggregate overcommitted by around 4TB. 

